Ax- 0,25 = C A

i — 4
V}El‘-‘-iru C?~ 4{{<(O 2

/T’F: fotounie

hie ~—
E?“""‘elér' df-f VO’QI‘ ! {F: = =3 Sigar o} -——?:(-€ +T—;2_ =0
(2%% e.!)
2
o bree ! ngf: k %;_
Eé = k¥ dx
4 g 5 -¢)*
= | fe® = r 9403 fi. €457 £i9p,5 W
Ay 4~ O 025 .+ O A" &
- 2‘\“ e do Newbou 2 = S e = g
H — e -
Fr i+ R + L'f To
Serxn ~FGst+FRe <o )
.(ur/\ i Fr s AR — Fp <o @
‘ E):bs.? G)
| Ree ke T ek o o T e
S S8
| (24) e (5 A )
| 1
3 De ('l} t ‘F-c?‘: T-:-r cos FL” (>
\
n @) ¢ Fp = Frogert®® = Fysa (22

2 (S’J . D :%-}U

(4'} f“e'(

~: *-—2‘—% i L.— L7
” tic g~ R -ir

g (sin 18 & 45180 (4 1maP) =

3 g% -
e by 20 9107 G-

D 9L J2.45%  rpei b

Q)_ FT:—— :l& ! g]z,-{é‘jl\(

e




